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1. 22.8 +30.24 =+ 2.7=7
A.33.08 B.33.8 C. 34 D. 34. 02

2. 8 x 48 x 20044 x 48 x 1005 > &7
How many multiple(s) is/are 8 x 48 x 200 compared to 4 x 48 x 100?
Al B. 2 C.3 D.4
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There is a rectangle of length 140cm and width 130cm. Siu Ming uses a

string of length 12m to around it for one time. How much string is left?

A. 9. 3m B. 9. 6m C. 8. 4m D. 6. 6m
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A chef makes 310 pieces of puff. He puts the puff evenly in 25 boxes,
and puts the remaining puff into one of the boxes. How many pieces of

puff in that box?
A. 10 B. 22 C. 30 D. 35
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